Instructions for mounting with linkage (2G-LF... kit)

m0047712

m0048712

14

BELIMO

Flat mounting (fig. 1)

Kit specification ZG-LF1
[] 1 mounting bracket LF
1 1 crank arm %”

] 1 circlip LF

[] 2 ball joints KG8

3 screws M6 x 67
3 nuts M6
3 self-tapping screws 4.2 x 13

(] Universal crank arm:
order separately, not included with the
ZG-LF... mounting accessory.

Side mounting (fig. 2)

Kit specification ZG-LF3
[] 2 mounting brackets LF
] 1 crank arm %”

(] 1 circlip LF

[] 2 ball joints KG8

2 screws M6 x 67
2 nuts M6
4 self-tapping screws 4.2 x 13

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk Ol

ENG-93001-93227-01.00 ® ZSD e Subject to technical changes



